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ENGLISH

Q1.Read the passage given below.

1. At a time when the use of fossil fuels to power vehicles is making environmentalists angry, an alternative
source of fuel — biodiesel — has emerged as a useful solution. Additionally, its use solves a disposal
problem. The fuel is nothing but used vegetable oil which has been tested satisfactorily. It has made a
vehicle called the Veggie Van (a motor home) run more than 16000 km across the United States. Also, it
has visited 20 major cities, causing absolutely no harm to the environment. Vegetable oils from various
restaurants in America were all that used along the entire journey. The novel experiment was started as a
college project by two students, Joshna and Kaia. It eventually ended in a massive public awareness
programme.

2. The idea of using vegetable oil as fuel for a diesel engine first occurred to them when they visited a
traditional farm in picturesque Southern Germany where vehicles fuelled by vegetable oil were in use.
While studying agriculture and living on these farms, they noticed that farmers were always filling vehicle
tanks with a yellow liquid. “This fuel comes from the canola plants which grow on our farms and nearby
areas. We use it in place of diesel and it smells good”, farmers said. The process of converting vegetable oil
into biodiesel fuel is cheap and easy to carry out. Any vegetable oil, such as used cooking oil, methanol or
clear alcohol can be used as fuel.

3. The diesel engine which is being used can run on alternate vegetable oil or biodiesel without any
modification. Not only does biodiesel require zero modifications to the engine, this fuel works either by
itself or blended with petroleum diesel. Biodiesel has since been recognised as an official alternative fuel in the
US. Its use by the bus and truck fleet has soared by more than 100%. (305 words)

Attempt the following questions on the basis of the passage you have read. Write the answer in the space provided.
(i) What useful solution has been discovered as an alternative source of fuel?

(ii) How can it be said that biodiesel fuel works? Give one example.

(iii) How did this novel experiment start?

(iv) What was the end of the novel experiment?




(v) What was noticed by these college students when they were living on farms?

(vi) Where is this fuel obtained from?

(vii) Name the fuels on which a diesel engine can run.

(viii) How did Americans give importance to biodiesel?

(ix) What has U.S. recognised as official alternative fuel?

(x) Give a suitable title to the passage

Q2. You are Kavya/ Kavish of Class IX. You recently met a famous television personality. Make a diary entry
using the given clues on what you learnt from the meeting and also state how you felt (100 words).Write
the answer in the space provided

Met a star — got the opportunity due to lucky draw — man of modern thinking — hardworking — calm and

composed — felt inspired




Q3. Parents and children often complain of the generation gap that leads to family strife and social
maladjustment. Write an article titled ‘Bridge the Gap’ in 100 words. You can take hints from the following
clues. You are Sumit/Somya of class IX. Write the answer in the given space.

Mutual respect, tolerance and acceptance
e Understanding

Patience

Stressful and competitive environment




Q4. Write a story in 150 words with the help of following outline. Write in the space provided.

Rohit alone in house — telephone rang — enquiry about parents — sudden disconnection — knocking on

the front door — burly heavy man — break the door—return of parents — burglar disappear.

Q5. Fill in the blanks in the paragraph given below with the help of the options that follow.

Last year | employed Sameer as (a).... secretary and went (b) ..... a tour around the United States. He kept
(c)..... working even (d) ...... the snowy weather when he (e) ..... to leave his bike at home and walk

everywhere with the papers.

(a) (i) my (ii) a (iii) the (iv) any
(b) (i) in (ii) on (iii) by (iv) to
(c) (i) in (ii) at (iii) on (iv) out

(d) (i) in (i) with (iii) at (iv) during

e) (i) had (ii) has (iii) wanted (iv) ought

Q6. Read the extracts given below and answer the questions that follow.

Margie was scornful. “School? What'’s there to write about school? | hate school.” Margie always hated
school, but now she hated it more than ever. The mechanical teacher had been giving her test after test in
geography and she had been doing worse and worse until her mother had shaken her head sorrowfully and

sent for the County Inspector.




(i) Why was Margie scornful?

(ii) Why did Margie start hating school?

(iii) What can be done to make the school lovable to children?

(iv) What did the County Inspector do?

Q7. Answer the following questions in 100-150 words.

“What sweet would you like, child!” he asked. The child turned his face from the sweet shop and only sobbed,
want my mother, | want my father.”

The lost child was going through the despair of separation from his parents. Now, he had lost interest in the things
which had attracted him earlier. Learning moral values from this story, write a letter to your friend telling him the
importance of parents in one's life.
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MATHEMATICS

1.Can we write 0 in the form of p/q?
a. Yes

b. No

c¢. Cannot be explained

d. None of the above

2.) The three rational numbers between 3 and 4 are:
a.5/2,6/2,7/2

b. 13/4, 14/4, 15/4

c. 12/7,13/7, 14/7

d.11/4,12/4, 13/4

3.) In between any two numbers, there are:
a. Only one rational number

b. Two rational numbers

c. Infinite rational numbers

d. No rational number

4.) Every rational number is:
a. Whole number

b. Natural number

c. Integer

d. Real number

5.) V9 is number.
a. A rational

b. An irrational

c. Neither rational nor irrational

d. None of the above

6.) Which of the following is an irrational number?
a. V16

b. V(12/3)

c. V12

d. V100

7.) 376 + 46 is equal to:
a. 6\6

b. 7V6

c. 412

d. 7N12




8.) V6 x V27 is equal to:
a. 92
b. 3V3
c.2\2
d. 9V3

9.) Which of the following is equal to x3?
a.x’—x’
b. x0.x*

c. x0/%°

d. (x%?

10.) Which of the following is an irrational number?
a.\23

b. \225

c. 0.3796

d. 7.478478

11.) Which of the following is an irrational number?
a.0.14

©.0.1416

©.0.1416—

d. 0.4014001400014...

12.) 2\3+\3 =
a.6

b. 2V6

c.3\3

d. 46

14.) The number obtained on rationalising the denominator of 1/ (\/7 —2)is
a. (V7+2)/3

b. (V7-2)/3

c. (V7+2)/5

d. (N7+2)/45

15.) Which of the following is rational?
a.4/0

b. 0/4

c.\3

dn




16.) The irrational number between 2 and 2.5 is
a. V11

b. V5

c.\22.5

d. V125

17.) The value of V10 times V15 is equal to
a. 5\6

b. V25

c. 10N5

d. s

18.) The decimal representation of the rational number is
a. Always terminating

b. Either terminating or repeating

c. Either terminating or non-repeating

d. Neither terminating nor repeating

19.) Which of the following is a rational number?
a.0

b. 273

c.2+\3

dn

20.) Which of the following is an irrational number?
a. V(4/9)

b. V12/\3

c.\7

d. V81

21. PROJECT: Early history of Mathematics

22.ACTIVITY; Represent irrational number on number line by spiral method

23. Workbook home work; ex- 1(all) Number system.




SCIENCE

MULTIPLE CHOICE QUESTIONS

1. If cells of onion peel and RBC are separately kept in hypotonic solution, what will happen to each of
them?

(a) Both the cells will swell

(b) RBC will burst easily while cells of onion peel will resist the bursting to some extent.

(c) Both Aand B

(d) RBC and onion peel cells will behave similarly.

2. A person takes concentrated solution of salt, after sometime, he starts vomiting. What is the phenomenon
responsible for such situation?

(a) Osmosis

(b) Exosmosis

(c) Endosmosis

(d) None of the above

3. Where will you find more number of ribosomes-in cancer cells or in fat cells?
(a) Cancer cells
(b) Fat cells

4. What are the colours absorbed by plants?
(a) No colors are absorbed by plants

(b) All the colors of the spectrum

(c) Only yellow color

(d) Only natural colors

5. A solution of 3% glucose and a solution of 8% glucose are kept in a trough separated by a semi permeable
membrane. What will you observe after 1 hour?

(a) Both sides of the semi permeable membrane will become isotonic because of exosmosis

(b) Single side of the semi permeable membrane will become hypertonic because of osmosis

(c) Both sides of the semi permeable membrane will become isotonic because of osmosis

(d) No change will occur

6. Why does the skin of your finger shrink when you wash clothes for a long time?

(a) Soap is hypotonic, so water is moved out of finger by osmosis

(b) Soap is hypertonic, so water is moved out of finger by osmosis

(c) Soap is isotonic, so water is moved into finger by osmosis

(d) None of the above

7. Mitosis is referred to as reductional division because the number of chromosomes get halved in the
daughter cell than that in the parent cell. State true or false.

(a) True

(b) False

8. Which of the following phenomena would increase on raising the temperature?
(a) Diffusion, evaporation, compression of gases

(b) Evaporation, compression of gases, solubility

(c) Evaporation, diffusion, expansion of gases

(d) Evaporation, solubility, diffusion, compression of gases

9. On converting 308 K, 329 K and 391 K to Celsius scale, the correct sequence of temperatures will be:
(a) 33°C, 56°C and 118°C
(b) 35°C, 56°C and 119°C




(c) 35°C, 56°C and 118°C
(d) 56°, 119°C and 35°

10. Which of the following statement is not true regarding the characteristic of matter?

(a) Particles of a matter are randomly moving in all directions.

(b) Kinetic energy of the particles increases with a rise in temperature

(c) Kinetic energy of the particles of all maters remains the same at a particular temperature.
(d) Particles of matter diffuse into each other on their own.

11. In which of the following conditions, the distance between the molecules of hydrogen gas would
increase?

(1) Increasing pressure on hydrogen contained in a closed container

(i1) Some hydrogen gas leaking out of the container

(ii1) Increasing the volume of the container of hydrogen gas

(iv) Adding more hydrogen gas to the container without increasing the volume of the container

(a) (i) and (ii1)

(b) (1) and (iv)

(c) (i1) and (iii)

(d) (i1) and (iv)

12. Which one of the following statements is not true?

(a) The molecules in a solid vibrate about a fixed position

(b) The molecules in a liquid are arranged in a regular pattern

(c) The molecules in a gas exert negligibly small forces on each other, except during collisions
(d) The molecules of a gas occupy all the space available.

13. A few substances are arranged in the increasing order of ‘forces of attraction’ between their particles.
Which one of the following represents a correct arrangement?

(a) Water, air, wind

(b) Air, sugar, oil

(c) Oxygen, water, sugar

(d) Salt, juice, air.

14. The boiling points of diethyl ether, acetone and n-butyl alcohol are 35°C, 56°C and 118°C respectively.
Which one of the following correctly represents their boiling points in Kelvin scale?

(a) 306 K, 329 K and 391 K

(b) 308 K, 329 K and 392 K

(c) 308 K, 329 K and 391 K

(d) 329 K, 392 K and 308 K.

15. Which condition out of the following will increase the evaporation of water?
(a) Increase in temperature of water

(b) Decrease in temperature of water

(c) Less exposed surface area of water

(d) Adding common salt to water.

16. The boiling point of water at sea level is
(a) 0°C

(b) 273 K

(c)373 K

(d) 273°C




17. Which of the following conditions is most favourable for converting a gas into a liquid?
(a) High pressure, low temperature

(b) Low pressure, low temperature

(c) Low pressure, high temperature

(d) High pressure, high temperature

18. Choose the correct statement from the following:

(a) Conversion of solid into vapour without passing through the liquid state is called vapourisation.
(b) Conversion of vapour into solid without passing through the liquid state is called sublimation.
(c) Conversion of vapour into solid without passing through the liquid state is called freezing.

(d) Conversion of solid into liquid is called sublimation.

19. Dry ice is

(a) water in solid state
(b) water in gaseous state
(c) CO2 in liquid state
(d) CO2 in solid state

20. If a body is moving at constant speed in a circular path, its
(a) velocity is constant and acceleration is zero

(b) velocity and acceleration both are changing direction only
(c) velocity and acceleration both are increasing

(d) velocity is constant, acceleration is changing direction

21. Which of the following can sometimes be ‘zero’ for a moving body?
(a) Average Velocity

(b) Distance travelled

(c) Average Speed

(d) Displacement

22. What would be the displacement of a particle moving in a circular path of radius r after a displacement
of half a circle?

(a) 2ar

(b) mr

(c) 2r

(d) Zero

23. What does the slope of the distance-time graph give?
(a) Speed

(b) Velocity

(c) Acceleration

(d) Displacement

24. Which of the following is true of a free-falling body?
(a) It moves with non-uniform motion

(b) It has zero velocity

(c) It has constant non-zero acceleration

(d) It has non-uniform acceleration

25. The physical quantity that has both magnitude and direction is known as
(a) vectors

(b) scalars

(c) Both(a) and (b)

(d) Neither (a) or (b)




SHORT ANSWER BASED QUESTIONS

1. The green light of the sunlight is blocked. How will the photosynthesis be affected?
2. What is the importance of meiosis in bringing about variation?

3. A cell is having two boundaries, the outer being cell wall and the inner being plasma membrane. The
inherent property of this pair involving from outside to inside is

4. The process of osmosis is the movement across the cell membrane of

5. Lipid molecules in the cell are synthesized by

6. A poorly developed zone in the center of a cell that has DNA molecule is called as

7. The plant cells become turgid due to

8. In a living cell the fluid present inside the nucleus is called

9. Suggest a method to liquify atmospheric gases.

10. Give reasons for the following observations: The smell of hot sizzling food reaches you several meters
away but to get the smell from cold food, you have to go close?

11. Can the average speed of a moving object be zero? Why?
12. Give an example of a motion in which acceleration of an object is against the direction of motion.

13. A cyclist rides his cycle with a speed of 30 m/s for the first half and the next half-length he covers with a
speed of 45 m/s. Find the average speed of the cyclist.

14. A body moving in a circle of radius ‘r’, covers % th of the circle. Find the ratio of the distance
to displacement.

15. List the important of velocity-time graph?

16. A train starting from rest attains a velocity of 20m/s in 2 minutes. Assuming that the acceleration is
uniform, find (I) the acceleration (II) distance travelled by the train, while it attained this velocity.

17. How long will it take for a body accelerating by 2 m/s? to gain a velocity of10 m/s, starting from rest?
18. Write and derive the equations of motion involving uniform acceleration.
19. Define a vector quantity giving examples.

20. A car starts from rest and accelerates with 2 m/s2 for 10 seconds, After maintaining the velocity for 10
seconds, it comes to rest decelerating 1m/s2 i) Draw the shape of V-t graph. II) Find the maximum velocity
attained and the total distance travelled during the journey.

21. The brakes applied to a car produce a negative acceleration of 10 m/s% If the car takes 5 s to stop after
applying brakes, calculate the distance covered by the car before coming to rest.

22. Draw a velocity-time graphs for the following (a) A body moving with a uniform acceleration.
(b)Uniform retardation (c) Zero acceleration.

23. Name a physical quantity that (i) varies (ii) remains same in a uniform circular motion.




CASE STUDY BASED QUESTIONS

Mummy kept grams in a vessel and poured
water into it and left it for the whole

night Next day. she found that water had
been socoaked by the grams.

Answer the following questions:

(a) What is this process called?

(b) Through which water enters into the grams?

(c) What happens if swollen grams are kept in sunlight?
(d) What happens if resin is kept in water?

2. Distance is the length of the actual path covered by an object, irrespective of its direction of motion.
Displacement is the shortest distance between the initial and final positions of an object in a given direction.
Distance is a scalar quantity. Displacement is a vector quantity. Distance covered can never be negative. It is
always positive or zero. Displacement may be positive, negative or zero.

(i) is the actual path covered by an object.
(a) Speed (b) Motion (c) Velocity (d) Distance
(ii) is the shortest distance between the initial and final positions of an object.
(a) Displacement (b) Acceleration (c) Distance (d) Motion
(iii) Which of the following is a scalar quantity?
(a) Displacement (b) Distance (c) Velocity (d) Acceleration
(iv) Distance covered .
(a) can never be negative (b) can never be positive
(c) can never be zero (d) can be positive or negative

(v) Which of the following is vector quantity?
(a) Displacement (b) Velocity (c) Acceleration (d) All of these




SOCIAL SCIENCE

1. Describe the divisions in French society before the French Revolution

2. Explain the immediate cause of French Revolution

3. How did peasants protest against feudal lords ?

4. What was Subsistence Crisis ?




5. What were the causes for the empty treasury of France under Louis XVI ?

6. What was the contribution of the French philosophers in the outbreak of the Revolution of 1789 ?

7. What was the contribution of Mirabeau and Siyeyes to the formation of the National Assembly ?

8. What was the condition of women in France before the revolution ?




9. How did France become a constitutional monarchy ?

10. Name one of the most important of the politically active women in the revolutionary France .

Lesson --1
1. Indiais said to enjoy a strategic position with reference to international trade routes. Which features
provide India a strategic advantages?
OR
Explain the importance of India’s location on the globe.

2. Explain the latitudinal and longitudinal extension of India.




3. Distinguish between local time and standard time .

4. Why do we select 82° 30’E longitude as the standard meridian of India?

5. Whatis the need of standard meridian in India?

6. “Opening of Suez Canal has benefited India immensely.” Justify this statement.

7. Whatis a subcontinent? Why India is called a subcontinent?




8. The Sun rises two hours earlier in Arunachal Pradesh as compared to Gujrat in the west., but watches show
the same time. How does this happen?

9. Why is the difference between day and night durations hardly felt at Kanyakumari, but not so in Kashmir?

Lesson -2
1. Distinguish between Himadri and Himachal.

2. Why are Himalayan Mountains called Young Fold Mountains?




3. Name the three longitudinal divisions of Himalayas. State characteristic features of each. Hint( Himadri,
Himachal and Siwalik)

4. Explain four divisions of the Himalayas from West to East along with Purvanchal hills.

Map
On the political map of India, locate the followings
1. Standard Meridian
2. Southern most point of main land of India
3. Island group lies in Bay of Bengal
4. Mount K2, Kanchenjunga, Malawa Plateau, Thar Desert
5

Himalayan range, Karakoram range, Zaskar Range, Vindhya Range




Artificial Intelligence

Summer Fun Work
Class IX

Python Programming

Write scripts using the Python programming language for the given questions.

1. The Travancore Bus Company operates buses between Chennai and Bengaluru. The fare is fixed at X1.50 per
kilometer. Using a python script, calculate the total fare for a passenger traveling from Chennai to Bengaluru.

(

\_

\

J

2. Ravikant needs to calculate the volume and total surface area of cylinders. Write a script in python that takes

the radius of a cylinder and displays the volume and total surface area of the cylinder.
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3. Nikita wants to convert the readings on a thermometer from fahrenheit to celsius. Write a python script that
takes the temperature in fahrenheit as input and converts it to celsius.
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4. Rishiinvests %1,56,500 in an account for a period of 5 years. Calculate the simple interest at the rate of 10%
for 5 years using a python program and display the simple interest and total amount.
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5. Abank account has 51,700 and it earns interest at the rate of 5% per annum for a term of 10 years
compounded annually. Write a python program to calculate the Interest and the final amount.




Artificial Intelligence

- J

II.  Make a poster of different types of Robots.

L visit your nearest supermarket, and observe how computers are used. Write four applications of Al in the
supermarket.



Office
Typewritten Text

Office
Typewritten Text
II.       Make a poster of different types of Robots.


IV.  Imagine the world in 2030 and write a letter to your future self. Be sure to mention things that you think
your future self would probably be doing and experiencing in daily life.

Place

Date

Dear ,

It feels a little strange to be writing a letter to my future self, but it’s also

rather exciting!

At present | am very interested in and am sure this is a hobby that has proved beneficial

and | am now a skilled

So tell me have things changed a lot? Do we still have a lot of

Has Artificial Intelligence proved to be

You must be so used to

while we struggle to

. Is our Pet

doing well or have you replaced it with ?




Ha! Ha! It’s so much easier, right?!

How is your preparation for the new job? Must be really nice to be

Have you changed the

Am sure things have turned out well for you in 2030. Great

It’s been nice writing to you

Hope this letter brings back old memories...

Sincerely,
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